galton<-read.table("Galton.txt",header=T)
galton
attach(galton)
plot(Parent,Child)
sl<-lm(Child~Parent)

sl

Call:

lm(formula = Child ~ Parent)

Coefficients:

(Intercept)       Parent  

    26.4556       0.6115  

summary(sl)

Call:

lm(formula = Child ~ Parent)

Residuals:

     Min       1Q   Median       3Q      Max 

-8.44126 -1.55205  0.06787  1.61437  5.83156 

Coefficients:

            Estimate Std. Error t value Pr(>|t|)    

(Intercept) 26.45556    2.91962   9.061   <2e-16 ***

Parent       0.61152    0.04275  14.303   <2e-16 ***

---

Signif. codes:  0 ‘***’ 0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 ‘ ’ 1 

Residual standard error: 2.357 on 950 degrees of freedom

Multiple R-squared: 0.1772,     Adjusted R-squared: 0.1763 

F-statistic: 204.6 on 1 and 950 DF,  p-value: < 2.2e-16
plot(Parent,Child)
points(Parent,fitted.values(sl),type="l",col="red")
x<-1:10

y<-2+3*x

plot(x,y)

e1<-4*rnorm(10)

e2<-4*rnorm(10)

y1<-y+e1

y2<-y+e2

plot(x,y1)

plot(x,y2)

reg1<-lm(y1~x) 

reg1

Call:

lm(formula = y1 ~ x)

Coefficients:

(Intercept)            x  

      1.037        3.177  

reg2<-lm(y2~x)

reg2

Call:

lm(formula = y2 ~ x)

Coefficients:

(Intercept)            x  

2.317 2.927  
Confidence Interval
1. Speed of light data. (

data(morley)

attach(morley)

Speed

2. Simulation

Cl<-rep(0,50);

Cu<-rep(0,50);

for (i in 1:50) {

x<-rnorm(20);

s<-sd(x);

Cl[i]<-mean(x)-1.729*s/sqrt(20);

Cu[i]<-mean(x)+1.729*s/sqrt(20);

}

plot(1:50, rep(0,50), col=”red”, xlim=c(0,51),ylim=c(-1,1))
for(i in 1:50) {

points(c(i,i),c(Cl[i],Cu[i]),type="l")
}

3. Gross calorific content of coal
Gross<-c(23.870,23.730,23.712,23.760,23.640,23.850,23.840,23.860,23.940,23.830,23.877,23.700,23.796,23.727,23.778,23.740,23.890,23.780,23.678,23.771,23.860,23.690,23.800)

